

1 (A)

$$\lim_{m \rightarrow +\infty} (m+2)^{2d+m} \frac{(m+3)^{2/2} - \sqrt{m^2}}{(m+1)^m}$$

$$= \lim_{m \rightarrow +\infty} \left(\frac{m+2}{m+1}\right)^m \cdot (m+2)^{2d} \cdot m^{2/2} \left[\left(1+\frac{3}{m}\right)^{2/2} - 1\right]$$

$$= \lim_{m \rightarrow +\infty} \left(1 + \frac{1}{m+1}\right)^m m^{2d+2/2} \left[1 + \frac{2}{2} \cdot \frac{3}{m} + o\left(\frac{1}{m}\right) - 1\right]$$

$$= \lim_{m \rightarrow +\infty} e m^{2d+2/2-1} \cdot \frac{3d}{2} = e$$

Se  $2d + \frac{2}{2} - 1 > 0 \Leftrightarrow d > \frac{2}{5} \Rightarrow l = +\infty$

Se  $2d + \frac{2}{2} - 1 = 0 \Rightarrow d = \frac{2}{5} \Rightarrow l = \frac{3}{5}e$

Se  $2d + \frac{2}{2} - 1 < 0 \Rightarrow 0 < d < \frac{2}{5} \Rightarrow l = 0$

B

$$\lim_{m \rightarrow +\infty} \frac{(m+1)^{3\beta} - m^{3/2\beta}}{(m+2)^{m+\beta}} \cdot (m+3)^m =$$

$$= \lim_{m \rightarrow +\infty} \left(\frac{m+3}{m+2}\right)^m \cdot \frac{m^{3/2\beta} \left[\left(1 + \frac{1}{m}\right)^{3\beta} - 1\right]}{(m+2)^\beta}$$

$$= \lim_{m \rightarrow +\infty} \left(1 + \frac{1}{m+2}\right)^m \cdot m^{3/2\beta - \beta} \left[1 + \frac{3\beta}{2} \frac{1}{m} + o\left(\frac{1}{m}\right) - 1\right]$$

$$= \lim_{m \rightarrow +\infty} e \cdot m^{3/2\beta - \beta - 1} \cdot \frac{3\beta}{2} \Rightarrow \left. \begin{array}{l} 3/2\beta - \beta - 1 < 0 \\ 3/2\beta - \beta - 1 = 0 \\ 3/2\beta - \beta - 1 > 0 \end{array} \right\} \begin{array}{l} \beta < 2 \quad l = 0 \\ \beta = 2 \quad l = 3e \\ \beta > 2 \quad l = +\infty \end{array}$$

①  $\lim_{x \rightarrow 0} \frac{\log(1 + (2x^3 + x^2)) + \arctan(2x^3 + x^2) + 1 - e^{4x^3} + \frac{1}{2} \operatorname{sh}(x^4) - 2x^2}{(x^5 + 1)^{3/2} - \cos(x^3)}$

①  $\log(1 + (2x^3 + x^2)) = \cancel{2x^3 + x^2} - \frac{1}{2}(2x^3 + x^2)^2 + \frac{1}{3}(2x^3 + x^2)^3 + o(x^6)$

$\arctan(2x^3 + x^2) = \cancel{2x^3 + x^2} - \frac{1}{3}(2x^3 + x^2)^3 + o(x^6)$

$1 - e^{4x^3} = -\cancel{4x^3} + o(x^5)$

$\frac{1}{2} \operatorname{sh}(x^4) - 2x^2 = \frac{1}{2}x^4 - \cancel{2x^2} + o(x^6)$

$= -\frac{1}{2}x^4 - 2x^5 + \frac{1}{2}x^4 + o(x^5) = \boxed{-2x^5 + o(x^5)}$

②  $1 + \frac{3}{2}x^5 - 1 + \frac{x^6}{2} + o(x^6) = \boxed{\frac{3}{2}x^5 + o(x^5)}$

$\ell = -\frac{4}{3}$

③  $\frac{\operatorname{sh}\left(\frac{x^4}{2}\right) + \arctan(3x^3 + x^2) + 1 + \log(1 + (3x^3 + x^2)) - e^{6x^3} - 2x^2}{\cos(2x^4) - \sqrt{1 + x^5}}$

④  $\frac{x^4}{2} + (\cancel{3x^3 + x^2}) - \frac{1}{3}(3x^3 + x^2)^3 + 1 + (\cancel{3x^3 + x^2}) - \frac{1}{2}(3x^3 + x^2)^2 + \frac{1}{3}(3x^3 + x^2)^3$   
 $1 - \cancel{6x^3} - 2x^2 + o(x^5) = \boxed{-3x^5 + o(x^5)}$

⑤  $1 - \frac{2x^6}{2} - 1 - \frac{1}{2}x^5 + o(x^5) = \boxed{-\frac{1}{2}x^5 + o(x^5)}$

$\ell = 6$

$$\textcircled{3} \int_2^3 \frac{\sqrt{2x+1}}{x^2} dx$$

Posso  $t = \sqrt{2x+1}$

$$x = \frac{t^2 - 1}{2}$$

$$dx = t dt$$

$$= \int_{\sqrt{5}}^{\sqrt{7}} \frac{4t \cdot t}{(t^2 - 1)^2} dt = \text{per parti}$$

$$= \int_{\sqrt{5}}^{\sqrt{7}} \left[ -\frac{2}{t-1} \cdot t \right] dt - \int_{\sqrt{5}}^{\sqrt{7}} -\frac{2}{t^2-1} dt$$

$$\frac{2}{t^2-1} = \frac{2}{(t-1)(t+1)}$$

cerco A e B t.c.

$$\frac{2}{(t-1)(t+1)} = \frac{A}{t-1} + \frac{B}{t+1}$$

$$= \frac{At + A + Bt - B}{(t-1)(t+1)}$$

$$\Leftrightarrow t(A+B) + A - B = 2$$

$$\Leftrightarrow \begin{cases} A+B=0 \\ A-B=2 \end{cases} \quad \begin{cases} A=-B \\ -2B=2 \end{cases} \quad \begin{cases} A=1 \\ B=-1 \end{cases}$$

$$\Rightarrow \textcircled{I} = \int_{\sqrt{5}}^{\sqrt{7}} \frac{2}{t^2-1} dt = \int_{\sqrt{5}}^{\sqrt{7}} \left( \frac{1}{t-1} - \frac{1}{t+1} \right) dt$$

$$= \left[ \log(t-1) - \log(t+1) \right]_{\sqrt{5}}^{\sqrt{7}}$$

l'altro è analogo

$$④ \quad f(x) = \sqrt{x+1} e^{|x|}$$

DOMINIO:  $x \geq -1 \Rightarrow [-1, +\infty)$

LIMITI:  $\lim_{x \rightarrow +\infty} f(x) = +\infty$

SEGNO:  $f(x) > 0 \quad \forall x > -1$   
 $f(-1) = 0$

DERIVATA PRIMA:

$$f'(x) = \frac{1}{2\sqrt{x+1}} e^{|x|} + e^{|x|} \cdot \operatorname{sgn} x \sqrt{x+1}$$

$$= \frac{1}{2\sqrt{x+1}} e^{|x|} \left[ 1 + 2\operatorname{sgn} x \cdot (x+1) \right]$$

$$= \begin{cases} \frac{1}{2\sqrt{x+1}} e^{|x|} [1 + 2x + 2] & x > 0 \\ \frac{1}{2\sqrt{x+1}} e^{|x|} [1 - 2x - 2] & x < 0 \end{cases}$$

$x > 0$   $f'(x) \geq 0 \Leftrightarrow 2x + 3 \geq 0 \Leftrightarrow x \geq -\frac{3}{2}$   $\left. \begin{array}{l} \Rightarrow f \nearrow \\ \forall x > 0 \end{array} \right\}$

$x < 0$   $f'(x) \leq 0 \Leftrightarrow -2x - 1 \geq 0 \Leftrightarrow x \leq -\frac{1}{2}$   $\left. \begin{array}{l} \Rightarrow f \nearrow \text{ in } [-1, -\frac{1}{2}] \\ \Rightarrow f \searrow \text{ in } [-\frac{1}{2}, 0] \end{array} \right\}$

$x = -\frac{1}{2}$  Pto di MAX RELATIVO

$x = -1$  Pto di MW. ASSOLUTO

Pti di NON DERIVABILITÀ

$x=0$  : impetu  $\lim_{x \rightarrow 0^+} f'(x) = \frac{3}{2}$   
#

$\lim_{x \rightarrow 0^-} f'(x) = -\frac{1}{2}$

$x=-1$  impetu  $\lim_{x \rightarrow -1^+} f'(x) = +\infty$

